
Clip-on handlebars model „SPORT“ 
diameter 35 mm – 58 mm  

PP Tuning Racing Parts, Jezeřany – Maršovice 328, 671 75 Loděnice, Czech Republic  

+420 604 458 216, pptuning@pptuning.eu, www.pptuning.eu  

 

 

Between the sleeve and a great washer M8 MUST NOT be space. See red arrow. 

 

 

When mounting - first tighten (not use excessive force) screw M8. Washer cannot be loose. There 
must not be gap. On picture nr.1 there is. It is bad procedure. Then tighten lightly 2 screws M6. Then 
tighten screw M8 to serrage C = 2,5 KGM = 25Nm and as last tighten again 2 screws M6 to 

serrage C = 1,8 KGM = 18Nm. Any higher serrage value might result in breaking the screws or 
deforming the front suspension tree in case of an upside-down model. Any lower serrage value might 
result in a lack of stability during those driving situations in which the Clip-On Handlebars are under 
pressure.   

 

 

WRONG!!   

WRONG!!   

GOOD   

GOOD    


